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1. Introduction 
New carrier has been under the standardization in RAN1. In this contribution, we would like to see RAN1 progress on this area up to now and RAN2 is asked to see some initial discussion.
2. Discussion
New carrier has been under the standardization in RAN1. Here is some brief summary of RAN1 progress: 

· Intention of introducing new carrier: in order to reduce the control signalling overhead

· New carrier cannot be a standalone cell

· Two types of new carrier are on the table: 

· Synchronized new carrier: downlink timing is synchronized to the serving cell

· No PSS/SSS and CRS are assumed, i.e. PSS/SSS and CRS may be configured to not be transmitted.
· Unsynchronized new carrier: downlink timing is not synchronized to the serving cell

· PSS/SSS and CRS are assumed (WA) 
· No PDCCH and PHICH is assumed in both synchronized new carrier and unsynchronized new carrier. 
· Transmission Mode 9 is only used in the new carrier (WA)
· PBCH and other channels have not been discussed yet
2.1 No PSS/SSS and CRS in synchronized new carrier
Main change is PSS/SSS and CRS may be configured to not be transmitted. However this decision has been made only with the consideration of the downlink timing aspect. Considering PSS/SSS are used not only for slot and sub-frame level downlink timing synchronization but also cell identification, and CRS is used not only for channel estimation but also RRM measurements, it is not clear how to add or release the new cell (new cell would be more proper in RAN2 point of view rather than new carrier) in the measurement aspect, i.e. based on what measurement reports, the eNB decides which cell should be added or released? Same issue would be also raised for the activation or deactivation of the new cell. Furthermore if the new cell is added into STAG, it is not clear how to measure pathloss for uplink transmission without PSS/SSS and CRS. So it would be worthwhile to see the common understanding on how to perform RRM measurements for cell addition/release or for cell activation/deactivation or for pathloss for uplink transmission. 

[Proposal_1]: RAN2 is asked to discuss how to perform RRM measurements for cell addition/release or for cell activation/deactivation or for pathloss for uplink transmission when PSS/SSS and CRS is configured to not be transmitted in synchronized new carrier. 

2.2 Non-standalone cell 

It is not clear what the exact definition of “non-standalone cell” is. In our understanding, the new cell would be: 

· Cannot be a PCell, but can be a SCell

· May or may not have a corresponding uplink

· Cannot provide any common service such as MBMS or ETWS/CMAS

· Cannot be camped for any UE regardless of release
However some can have different understanding on non-standalone cell so it would be good to start with the common understanding on non-standalone cell. 
[Proposal_2]: RAN2 is asked to see the common understanding on “non-standalone cell”. 
3. Conclusion
In this document, we see initial overview on the new carrier based on the RAN1 progress up to now. Based on that, RAN2 is also asked to see some initial discussion as follow. 
[Proposal_1]: RAN2 is asked to discuss how to perform RRM measurements for cell addition/release or for cell activation/deactivation or for pathloss for uplink transmission when PSS/SSS and CRS are configured to not be transmitted in synchronized new carrier.
[Proposal_2]: RAN2 is asked to see the common understanding on “non-standalone cell”. 

































